ELECTION COMMISSION OF PAKISTAN

NOTIFICATION

Islamabad the 11th August, 2018

No.F.6(5)/2018-Cord.- In pursuance of Article 106 of the Constitution of Islamic Republic of Pakistan read with Section 104 of the Elections Act, 2017 (XXXIII of 2017), the Election Commission of Pakistan hereby publishes the names of returned candidates for the seats reserved for **Women in the Provincial Assembly of Khyber Pakhtunkhwa Province** as per detail given below:

SI. No	Name of Returned Candidates	Father/ Husband Name	Address	Party Affiliation	
1	2	3	4	5	
1	Nadia Sher	Sher Muhammad Khan (Late)	Mohallah Nasir Khel, P/o Saidu Sharif Tehsil Babuzai, Swat.	PTI	
2	Maliha Ali Asghar Khan	Ali Asghar Khan	H. No. 1, Katchery Road, Abbottabad.	PTI	
3	Aisha Naeem	Muhammad Naeem Khan	H.No. 211, St. 9, Sector E/3, Phase-I Hayatabad, Peshawar.	PTI	
4	Momina Basit	Ghulam Basit	Mosazai Colony, Mir Pur, Abbottabad	PTI	
5	Sumaira Shams	Shamsul Qamer	Shamsul Qamar House, Timergara, Balambat, Lower Dir.	PTI	
6	Rabia Basri	Mirza Munir Akhtar Khan	Mughal Building, Faqir Abad No. 2, Moh: Zaryab, Peshawar.	PTI	
7	i iii dai i i ia iii ii ii ii ii ii ii ii ii ii		House # 8-B, Park Lane, University Town, Peshawar.		

8	Sajida Hanif	Hussain Ahmed	F.108, St-4, Sheikh Maltoon, Town Mardan.	PTI	
9	Somi Falak Naz	Falak Niaz	Kandi Nasir, P/o Pabbi, Tehsil Pabbi, Nowshera.	PTI	
10	Aisha Banno	Khushnood Ali Baz	7-C, Siffat Ghayour Road University Town, Peshawar.	PTI	
11	Sitara Afreen	Ghulam Haider Khan	H # 6, Nisar Road, D.I.Khan	PTI	
12	Zeenat Bibi	Anwar Haqdad	Mohallah Qabool Khel, Village Turlandi P/O Col: Shaikh Kali, Tehsil Rajjar Swabi	PTI	
13	Asia Saleh Khattak	Saleh Khan Khattak	H.No. 291, Street No. 11 Sector K-4 Phase-III, Hayatabad, Peshawar.	PTI	
14	Maria Fatima	Naseer Ahmed Khan	Village Susal , Tehsil & District Mansehra.	PTI	
15	- 1 1	PTI			
16		Seat vacant		PTI	
17	Rehana Ismail	Muhammad Ismail Qureshi	Bashir Lain, H.No. 7-A, Peshawar Cantt.	MMAP	
18	Humaira Khatoon	Muhammad Bashir	H.No. 72, St. No. 7, Sector, J- 2, Phase-II Hayatabad, Peshawar.	MMAP	
19	Shagufta Malik	Farukh Sair	H.No. 90, D-2, University Town, Peshawar.	ANP	
20	Shahida	Abdul Waheed Shah	Flat No. 2, Near Complex Hospetal Nowshero Road, Mardan.	ANP	

21	Sobia Shahid	Shahidullah	H # 111, St. # 8, Sector H-3, Phase-2 Hayatabad	PML (N)
22	Nighat Yasmin Orakzai	Sajad Mehmood	Essa Kore, Essa Abad behind Technical College Kohat Road, Peshawar.	PPPP

By order of the Election Commission of Pakistan

(Details of share of Political Parties for reserved seats is attached)

(Waqas Ahmed Malik) Deputy Director (Cord)

Provincial Assembly

Province

Khyber Pakhtunkwa

Category

Women

No. of Seats

22

Quota

93 /22 = 4.23

SI No.	Name of Political Party	General Seats Won	Number of Independents Who Joined	Number of Seats after Joining Independents	Formula (Seats/ Quota)	Share	Number of Reserved Seats obtained by each Political Party
1	PTI	64	2	66	66/4.23	15.60	16
2	MMAP	10	0	10	10/4.23	2.36	2
3	ANP	7	0	7	7/4.23	1.65	2
4	PML (N)	5	0	5	5/4.23	1.18	1
5	PPPP	4	0	4	4/4.23	0.95	1
	PML	0	1	1	1/4.23	0.24	0
	Total	90	3	93			22
	IND	6		3		<u> </u>	
	Pending	3		3			
	Grand Total	99		99			

Postponed

i) PK-78 Peshawar-XIII

ii) PK-99 D.I.Khan-V

With held

i) PK-23 Shangla-I